Example 1: Solve 3log, x = —log, 125

1 3
xS =1257 = (597 =57 = ()
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Example 2: Soive log, (x2 —~ 9) —log,(x +3)=3
l0g, o= _
*(x+3)

3 _ (¥*-9)

T (x+3)
64x +192 =x>-9
0=x%—-64x—201
X=67 or -3
But -3 does hot work, SO X=67

Example 3: Anh equation which is “quadratiC” inh form...
Solve: ¥ 43*-2=0
(3%)243¥-2=0
M=x% M*+M-2=0
(M—=2)(M+1)=0
M=2o0orM=-1
x>=2o0rx%*=-1
x=4V2
Example ¢: Solve 9 —-8-3*-9=0
(32)¥ —23%x3¥-32=(3%)2-8%3*—-9=M?—-8M —9
=M-9M +1)
M=9o0orM=-1
3*=90r3*=-1
X=2

Examples: 271 = 2%

ln2x+1 — ln51—2x
(x+1)In2 = (1 —2x)In5
xln2 + In2 = In5 — 2xIn5
xIn2 + 2xIn5 = In5 — [n2
x(In2 + 2In5) = In5 — [n2

_ (In5—-1In2)
X = (n2 + 2n5)
x = .2342

Example 6:  (Jse your graphing Calculator to solve e?* = x + 2
e —x+2=0
X=.4475, X=-1.9810



